The group G is isomorphic to the group labelled by [ 24, 2 ] in the Small Groups library.
Ordinary character table of G = C24:

la 8a 4a 8b 2a 8¢ 4b 8d 3a 24a 12a 24b 6a 24c 12b 24d 3b 24e 12¢ 24f 60 24¢g 12d 24h
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 —1 1 —1 1 —1 1 —1 1 -1 1 —1 1 —1 1 —1 1 —1 1 —1 1 —1 1 —1
xs | 1 1 1 1 1 1 1 1 E(3) E(3) E(3) E(3) E(3) E(3) E(3) EB)  E(3)?  E(3)? E(3)? E(3)? E(3)? E(3)? E(3)? E(3)?
xa | 1 -1 1 -1 1 -1 1 -1 E(3) —E@3) E(3) —E(3) E(3) —E(3) E(3) —-E(3) E@B)? -E(3)? E(3)? —-E(3)?  EB)?  -E(3)? E(3)? —E(3)?
xs | 1 1 1 1 1 1 1 1 EB?  E@3)? B(3)? E(B3)?  E(B3)?  E((3)? B(3)? E(3)?® E(B)  EO) E(3) E(3) E(3) E(3) E(3) E(3)
e | 1 -1 1 -1 1 -1 1 ~1  E(3)? -EB? E@B)? -EB? EB3? -EB3?® E@)? -EB3?® E@B) —E@) E(3) ~E(3) E@B) —E@®) E(3) —E(3)
xr | 1 E®4) -1 —-E4) 1 E(4) -1 —E(4) 1 E(4) -1 —E(4) 1 E(4) -1 —E(4) 1 E(4) -1 —E(4) 1 E(4) -1 —E(4)
xs |1 —E@4) -1 EM4 1 -B@) -1 B 1 —E(4) -1 E(4) 1 —E(4) -1 E(4) 1 —E(4) -1 E(4) 1 —E(4) -1 E(4)
xo | 1 E(4) -1 —-EM4) 1 E#4) -1 —-E(4) E@) EQ12) —-E3) —E(12)"  E@3) E(12)7 —-E3) —-E(12)" E@3)? EQ12)Y -E@B)? -—-E(12)YY EGB)?2  E(12)Y  -E@3)? -E(12)!
xwo| 1 —-E@4) -1 E4) 1 -E@4) -1 E@4 EB) -EBE127 -E(3) E12)7 EB) -E(12)7 —E(3) E(12)7 EB3)? -E(12)Y -E(3)2 E12Y EB3)? -E(12) -—E@3)?  E(12)U
x| 1 E@) -1 -E4) 1 E@4) -1 —-E@4 E@? B12Y -EB@B3)? -E12)Y E@GB)? B2 -E@B3)? -EB(12Y E@B) E12)7 —-EB3) -EBE12)7 E@B3) EBE12)7 -EB) -E(12)T
xi2 | 1 —E(4) -1 E(4) 1 —FE@4) -1 E@4) E(3)? —-E(12)Y —-E3)? E12)Y  EB)? —-E(12)Y —-E(3)? E(12)' EB) -—-E(12)" -E(3) E(12)7 E(3) —-E(12)" —E(3) E(12)7
xiz| 1 E(@8) E(4) E@®)? -1 —-E®) -—-E@4) —-E@8)? 1 E(8) E(4) E(8)3 -1 —E(8) —E(4) —E(8)3 1 E(8) E(4) E(8)3 -1 —E(8) —E(4) —E(8)3
xia| 1 —-E®B) E@4) -E@B)?® -1 E@B) -—-E@4) E@®)3 1 —E(8) E(4) —E(8)3 -1 E(8) —FE(4) E(8)3 1 —E(8) E(4) —E(8)3 -1 E(8) —E(4) E(8)3
xi5| 1 E@) E@) E@B° -1 —E@8) -E4) -E®? E@B) BQYT  B12)T BT —EB) -E@24)YM -EB(12)7 -E(24)Y7 EB)? E(24)Y  EBE12)YN  EB(24) -E(3)? —E@24)Y -B(12)Y —E(24)
x| 1 —E@B) E@) —-E@8? -1 E@B) -E4) E®? E@B) -EQY)Y EB12)T -EQ)YT -EB) B2 -E(12)7 E@2)Y7  EB)? -E@24)Y EBE12)N  —E24) -E(3)? E@4)Y -B12)Y  E(24)
xir| 1 E@®) E@) E®B? -1 —E@B) -E@4) —-E®)? E@G)? EBEQY)Y® E12YN  E@24) —EG@)? -E24)Y —E(12)1 —EQ4) E@B) E@)Y  E(12)T BT  —E@B) —E@HYN —E(12)7 —E(24)V7
xis| 1 —E@B) E@4) -—-E@®8?® -1 E®B) -E4) E®? EB)? —-E(24)Y E(12)'' —-FE(4) -E3)? E24)Y -—-E(12)'' E(24) E(3) —-E(24)Y E(12)7 -EQ24)7 -EGB) ECHY  —-E(12)"T  E(24)'7
xo| 1l E®? —-E4) E® -1 —E®)?* E@4) -E@8) 1 E(8)3 —FE(4) E(8) -1 —E(8)3 E(4) —E(8) 1 E(8)3 —E(4) E(8) -1 —E(8)3 E(4) —E(8)
x0| 1 —-E®)? —-E4) —-EQ® -1 E®)?3 E®4) E(8) 1 —E(8)3 —E(4) —E(8) -1 E(8)3 E(4) E(8) 1 —E(8)3 —E(4) —E(8) -1 E(8)3 E(4) E(8)
xo1| 1 EQ®)® —E@) E®B) -1 —E@8)? E@4) -EQ8) E@B) BEQYT -B12)T B4 —EB) -E@2H)Y7  E(12)7 -E@24)Y EB)?  EB24) -E12)Y E@4)Y -B(B3)? -E(24) B2 —E(24)Y
x| 1 —EQ®)?® —E@) —-E®B) -1 E@8)?° E@4) E@S) EB) -EQH)YT -B12)7 —-EQ)N -EB) BT E(12)7  E@HY  EB)? -E24) -EBE12)M —E@4)Y -EB(3)?  E(24) B2 E@24)Y
xes| 1 E@®? —-E@4) E®B) -1 —-E®? E@4) —E®B) EB)? E(24) —-E(12)'' E(24)Y —EB)? -E(24) E(12)Y —-E@24)Y EB) EC24)7 —-E(12)7 E@4H)M  —-EB) —-E@4)Y7 B2 —E(24)M
Xoa | 1 —EQRP —EA) —E®B) -1 EQR? E@4) ES) EB)? -—E(24) -—-E12)" —E@QDY —E@3)? E@24)  EBE12)  EB@24)Y EB) —-EQYHYT -—B(12)7 —EQHYN —E(3) BT EQ12)T  EB(24)U
Trivial source character table of G =& C24 at p = 3:
Normalisers N; Ny Ny
p-subgroups of G up to conjugacy in G P Py
Representatives n; € N; la 8a 4a 8b 2a 8c 4b 8d la 8a 4a 2a 8b 8c 4b 8d
Tox1+0-x2+1-x3+0-xa+1-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-Xx18+0-Xx10+0-x20+0-x21 +0-x22+0-x23+0-x24 | 3 3 3 3 3 3 3 3 0 0 0 0 0 0 0 0
O-x1+1-x24+0-x3+1-xa+0-x5+1-x6+0-x7+0-x8+0-x904+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x10+0-x20+0-x21+0-x22+0-x23+0-x24 | 3 -3 3 -3 3 -3 3 -3 0 0 0 0 0 0 0 0
O0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+1-x7+0-xs+1-x0+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x190+0-x20+0-x21+0-x22+0-x23+0-x24 | 3 3xE(4) -3 -3xE4) 3 3x E(4) -3 —3*xE(4) | 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+1-xg+0-xo+1-Xx10+0-x11+1-x12+0-x13+0-Xx14+0-Xx15+0-x16 +0-x17+0-x18+0-X19+0-X20+0-x21 +0-x220+0-x23+0-x24 | 3 —3xE(4) -3 3x E(4) 3 —-3xE(4) -3 3% FE(4) 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-Xx6+0-Xx7+0-x8+0-Xxo+0-Xx10+0-x11+0-x12+1-x13+0-x1a+1-x15+0-Xx16+1-X17+0-x18+0-x19+0-x20+0-x21+0-X22+0-Xx23+0-x24 | 3 3% E(8) 3xE(4) 3xE®)® -3 -3xE®) -3xE4) -3xE(®)?3]| 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x74+0-x8+0-x0+0-Xx10+0-x11+0-x12+0-x13+1-x14+0-x15+1-x16+0-x17+1-X18+0-x104+0-x20+0-X21 +0-x224+0-x23+0-x24 | 3 —3xE®) 3xE4) -3+xEQR)?® -3 3xE®) —3xE(4) 3xE®)?® |0 0 0 0 0 0 0 0
0-Xx14+0:-x2+0-x3+0 xa+0-Xx5+0-X6+0-x7+0-x5+0-x9+0 x10+0 x11+0-x12+0-X13+0 X124 +0-X15+0-X16 +0-X17 +0-X1s +1-X19 +0-X20 +1-X21 +0-X22 +1- X253 +0-X24 | 3 3% E@8)° —3xE(4) 3xEQ®) -3 -3xE(8)° 3xE4) -3xE(@8) |0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x04+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x154+0-x16+0-X17+0-x18 +0-x10+1-x20+0-x21 +1- X220+ 0-Xx25+1-x24 | 3 —3%xFE®)® —-3xE(4) -3xE@®) -3 3xE®R)® 3xE(4) 3% F(8) 0 0 0 0 0 0 0 0
T-xa+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-Xx23+0-x24 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
O0-x1+1-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-x17+0-XxX18+0-X19+0-Xx20+0-x21+0-x22+0-x23+0-x24| 1 -1 1 -1 1 -1 1 -1 1 -1 1 1 -1 -1 1 -1
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+1-x8+0-xX90+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-Xx17+0-x18+0-Xx19+0-Xx20+0-x21+0-x22+0-x23+0-%x04 | 1 —FE(4) -1 E4) 1 —E(4) -1 E(4) 1 —E@4) -1 1 E(4) —E(4) -1 E(4)
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+1-x7+0-xs+0-xo+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0-x19+0-X20+0-x21 +0-x220+0-x23+0-x24 | 1 E(4) -1 —E(4) 1 E(4) -1 —E(4) 1 E(4) -1 1 —-E@4) E#4) -1 -E@4)
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-Xx11+0-x12+0-X134+0-x14+0-Xx15+0-x16 +0-x17+0-x18 +1- X190 +0-x20 +0- x21 +0-x22 +0- x23 + 0 x24 | 1 E(8)° —E(4) E(8) -1 —E@®)? E(4) —E(8) 1 E@®?® -E@4) -1 E@®) -E@®)?® E@4) -E@)
0-x14+0-x24+0-x3+0-Xxa+0-x5+0-x6+0-x7+0-xs+0-Xxo+0-x10+0-x11+0-x124+0-x13+0-x14+0-Xx15+0-x16 +0-Xx17+0-x18+0-X10+1-x20+0-X21 +0-x220+0-X23+0-x24 | 1 —E(8) —E(4) -E®) -1 E@®)? E(4) E(8) 1 —-EQ®)?® -E@4) -1 —E®) E®?°® E@4) E@®)
X1 X2 X3 X4 X5 X6 “ X7 X8 " X9 * X10 “X11 “X12 " X13 " X14 “X15 " X16 S X17 X18 " X19 " X20 " X21 " X22 “ X23 " X24 - - - - - - - -
0-x14+0-x24+0-x3+0-xa+0-X5+0-X6+0-X7+0-Xs+0-Xo+0-X10+0-X1140-X1241- X134 0-X14+0-X15+0-X16+0- X174 0- X158+ 0+ X190 + 0+ X20 + 0+ X21 + 0+ X22 + 0 - Y3 + 0 1 E@®) E(4) E(8)3 1 E(8) E(4) E@®)? | 1 E®B) EM4) -1 E®8)?® —E@8) -—E@4) —E®S)?
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-X0+0-Xx10+0-x11+0-Xx12+0-xi3+1-Xx14+0-x15+0-Xx16 +0-x17+0-X18 +0-x190 + 0-Xx20+0-x21 + 0-Xx22+0-x23 +0-x24 | 1 —E(8) E(4) —-E@®)* -1 E(8) —E(4) E(8)3 1 —-EB8) EM4) -1 —-E®?® E@B) -E4) E@8)3
P, = Group([()]) 2 1
P, = Group([(1,2,3)]) = C3

Ny = Group([(1,2,3),(4,5,6,7,8,9,
Ny = Group([(1,2,3), (4,5,6,7,8,9



